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Mon 28th 
N-S
1st
Sean & Jeremy
65%
2nd
Dino & Marlin
56%

E-W
1st
Royd & Hans V
57%
2nd
Ursula & Bogi
57%

Wed 2nd 
N-S
1st
Hans M & Paul Q
62%
2nd
Paul B & Hans B
59%

E-W
1st
Janne & Per-Ake
58%
2nd
Gerard & Derek
55%

Fri 4th   
N-S
1st
Sean & Jeremy
58%
2nd
Dave C & Tomas
57%

E-W
1st
Hans M & Bengt M
69%
2nd
Richard M & Terry
60%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
What do you open with Hand A?

♠ K85
♠ K85


♥ AJ108
♥ AJ10
What do you open with Hand B?
♦ Q10
♦ Q108
♣ AJ95
♣ AJ95
Hand C
Hand D
With Hand C you open 1♣ and LHO overcalls a weak 2♠. 
This is passed to you, what do you do?
♠ 86
♠ AKQ97

♥ KQ42
♥ 73
With Hand D it’s both vul. Partner opens 1♣ and RHO overcalls 
♦ J5
♦ Q1093
a weak 2♠, what do you do?
♣ AQ1084
♣ 75

Bidding Sequence Quiz

E
1♣
pass
1♦
pass


1♥
pass
1♠

Is 1♠ 4th suit forcing or natural?
F
1♣
1♠
pass
2♥

pass
2♠
dbl

What is dbl – take-out or penalties?
A re-opening double




Board 13 from Friday 4th Feb
Dealer:
♠ 86



West

North(C)
East

South(D)
North
♥ KQ42

-


1♣

2♠
(1)
pass
(2)
Both vul 
♦ J5

pass

dbl
(3)
all pass

♣ AQ1084


pass

♠ -

N
♠ J105432


♥ AJ10985
W
E
♥ 6

♦ 864
S

♦ AK72

♣ J963


♣ K2


♠ AKQ97


♥ 73




♦ Q1093



♣ 75



(1) Weak. I would prefer a better suit with less outside and would (did) simply overcall 1♠.

(2) What did you bid with this South hand D in this week’s quiz? Provided that you can count on partner to re-open with a double then this pass is best. 

(3) What did you bid with this North hand C in this week’s quiz? This double is ‘automatic’ with this hand shape. You do not want to miss lucrative penalties because you play negative doubles.
And what happened? 2♠* went for 800. Two East’s escaped in 2♠-3 undoubled. N-S made 3NT+1 and 3NT+2 at other tables but that’s less than the 800 penalty.
Dave’s Column

N
♠ 10

West

North

East

South
W
E
♥ A54

-

-

-

1♠
S
♦ Q84

pass
4♥

all pass
♣ AKJ876


♠ AQJ98

 

♥ 83



♦ KJ107
You are East, defending 4♥, and lead the ♣K (ace for attitude, king for count).
♣ Q5
Partner shows an even number with the ♣9. How should you continue?

Dave’s Column Answer



Board 7 from Wednesday 2nd March
Dealer:
♠ K63



Book Bidding
South
♥ KQJ10972

West

North
East

South
both vul 
♦ -

-


-

-

1♠

♣ 1032


pass

4♥
(1)
all pass
♠ 7542
N
♠ 10


♥ 6

W
E
♥ A54

(1)
I (Terry) don’t particularly like this bid.
♦ A96532
S
♦ Q84

Although I do play it as natural (with 3♥
♣ 94


♣ AKJ876



as a splinter) the hand is too good in

♠ AQJ98

 


support of ♠’s and partner does not need
♥ 83



much for slam.
♦ KJ107
 


Anyway, 4♥ is where N-S belong:
♣ Q5

 

East leads the ♣K (ace for attitude, king for count) and West shows an even number with the ♣9. How should East continue?
The first time the hand was played, East continued with ♣A and a third ♣ but West could not over-ruff dummy’s ♥8 and the contract made. But actually West’s high-low signal told East all he needed to know to defeat the contract. Knowing that North held three ♣’s East should have switched to a low trump at trick two. If declarer tries to score a ♣ ruff in dummy East wins the ♣A and cashes the ♥A to remove dummy’s last trump and then cashes a ♣ for the setting trick.
If declarer tries to run ♠’s after East’s then East ruffs the second round, cashes the ♥A and scores two more ♣’s for two down.
And what happened at the Pattaya bridge club? 4♥= once, but the vast majority were playing in 4♠ going down one or two tricks. With this North hand I would insist on ♥’s being trumps.
Dave’s  2nd Column



N
♠ K109

West

North

East

South
W
E
♥ J3


1♠

2♥

3♦

pass
S
♦ AK865

3♠
pass

4♠

all pass
♣ K32


♠ QJ75

 

♥ 84

 

♦ 7
 

♣ QJ8764


You are South, defending 4♠. Partner leads the ♥K (ace for attitude, king for count) and you show an even number with the ♥8. North continues with the ♥A and the ♥Q which dummy ruffs with the ♠9. Do you overtrump? If so, with which honour? And if you do overtrump, what do you return?

Dave’s 2nd Column Answer

Board 8 from Wednesday 2nd March
Dealer:
♠ -



Book bidding
West
♥ AKQ1065

West

North
East

South
Love all 
♦ 109432

1♠


2♥

3♦

pass

♣ 95


3♠

pass

4♠

all pass
♠ A86432
N
♠ K109


♥ 972
W
E
♥ J3


♦ QJ
S
♦ AK865
 

♣ A10


♣ K32
 

♠ QJ75

 

♥ 84

 

♦ 7
 

♣ QJ8764



North leads the ♥K (ace for attitude, king for count) and South show an even number with the ♥8. North continues with the ♥A and the ♥Q  which dummy ruffs with the ♠9. Do you overtrump? If so, with which honour? And if you do overtrump, what do you return?
Solution: Why Overtrump? You have two sure trump tricks if you don’t overtrump and may take only one if you do. Look at your ♠ spots. Say you don’t overtrump and suppose continues with the ♠K and ♠10, you cover the ♠10 and remain with ♠Q7 while declarer has ♠8643, that’s two tricks. If you overtrump, declarer wins any return and plays the ♠K. When partner shows out it’s easy for declarer to pick up all of your trumps.
And what happened at the Pattaya bridge club? All over the place, with some not bidding game and others being pushed up to the five level.
The bottom lines:

Before overtrumping an honour (or its equivalent), whether in dummy or declarer’s hand, with another honour, consider how many trump tricks you will take if you overtrump and how many you will make if you don’t. You frequently gain a trick by not overtrumping, particularly when holding trump length along with an intermediate spot card. 
And yes, partner could have defeated the contract by shifting to a ♦ at trick two. Then there would be no way for declarer to avoid a ♦ ruff because you have a third round natural trump trick and partner has a ♥ entry.
Bidding Quiz Answers
Hand A:
1NT, obviously. So why is this in the news-sheet? Hans Bijvoet asked it to be, with a comment something like “I always open hand like this with 1NT – so, so much for your news sheets”. First of all, the hand, it is not 4333 and so easily qualifies for a 1NT opener, and even if you move a card to make it 4333 (Hand B) then 1NT would be fine because the two tens and intermediates are enough compensation. Secondly, for close to two decades now, Hans B has taken any opportunity to make snide remarks about me and the Pattaya Bridge Club (two on Wednesday alone), while taking full advantage of our freebies (Paul Q’s 2008 Xmas teams party and free entry to the Asian event in Pattaya). Why he continues his aggression towards me now after a break of a year or two is beyond me. Maybe he is peeved that he did not get entered into the 2009 Xmas teams with its free buffet, but that is 100% the fault of his partner Alan Purdy who does not understand the meaning of the word ‘deadline’ or else is so arrogant that he thinks it does not apply to him.
Hand B:
1NT. This is closer, deduct a point for the 4333 type shape but the great tens and intermediates are enough compensation. 

Hand C:
Double, partner is very likely to have a penalty ♠ hand.
Hand D:
Pass, and pass partner’s re-opening double. If you cannot rely upon partner to re-open with a double then I guess you have to bid 2NT or 3NT?
Bidding Sequence Quiz
E
1♣
pass
1♦
pass
1♠ here is generally played as natural and forcing, 


1♥
pass
1♠

with a jump to 2♠ being 4th suit forcing.
F
1♣
1♠
pass
2♥
dbl here is penalties – showing a hand that was prepared to


pass
2♠
dbl

defend 1♠ doubled.
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